
8832 8832.5 8833 8833.5 8834
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

2

2.5

3

3.5

4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7353

7353.5

7354

7354.5

7355

7355.5

7356

7356.5

7357

ru
n

run:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7355}



8832 8832.5 8833 8833.5 8834
cyclenum

102.4−

102.2−

102−

101.8−

101.6−

101.4−

101.2−

101−

100.8−

100.6−

100.4−

100.2−

us
l_

1X

usl_1X:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

6.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

39

39.5

40

40.5

41

us
l_

4e
X

usl_4eX:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

15

15.5

16

16.5

17

us
l_

4e
Y

usl_4eY:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

38−

37.5−

37−

36.5−

36−us
l_

12
X

usl_12X:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7353

7353.5

7354

7354.5

7355

7355.5

7356

7356.5

7357

ru
n

run:cyclenum {run == 7355}



8832 8832.5 8833 8833.5 8834
cyclenum

142.5−

142−

141.5−

141−

140.5−

us
r_

1X

usr_1X:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

6

6.5

7

7.5

8

us
r_

4a
Y

usr_4aY:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

199

199.5

200

200.5

201

us
r_

4e
X

usr_4eX:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

9.6

9.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

37.5−

37−

36.5−

36−

35.5−

us
r_

12
X

usr_12X:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7353

7353.5

7354

7354.5

7355

7355.5

7356

7356.5

7357

ru
n

run:cyclenum {run == 7355}



8832 8832.5 8833 8833.5 8834
cyclenum

32458.6

32458.8

32459

32459.2

32459.4

32459.6

32459.8

32460

32460.2

32460.4

32460.6

32460.8

us
l_

co
il1

usl_coil1:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

6558.6

6558.8

6559

6559.2

6559.4

6559.6

6559.8

6560

6560.2

6560.4

6560.6

6560.8

us
l_

co
il3

usl_coil3:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

4212.6

4212.8

4213

4213.2

4213.4

4213.6

4213.8

4214

4214.2

4214.4

4214.6

4214.8

us
l_

co
il4

usl_coil4:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

632.8−

632.6−

632.4−

632.2−

632−

631.8−

631.6−

631.4−

631.2−

631−

630.8−

630.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

14528

14528.5

14529

14529.5

14530

us
l_

co
il7

usl_coil7:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7353

7353.5

7354

7354.5

7355

7355.5

7356

7356.5

7357

ru
n

run:cyclenum {run == 7355}



8832 8832.5 8833 8833.5 8834
cyclenum

28157.5−

28157−

28156.5−

28156−

28155.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

5594−

5593.5−

5593−

5592.5−

5592−

us
r_

co
il3

usr_coil3:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

3704

3704.5

3705

3705.5

3706

us
r_

co
il4

usr_coil4:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

921.5−

921−

920.5−

920−

919.5−us
r_

co
il6

usr_coil6:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

17899.5

17900

17900.5

17901

17901.5

us
r_

co
il7

usr_coil7:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7353

7353.5

7354

7354.5

7355

7355.5

7356

7356.5

7357

ru
n

run:cyclenum {run == 7355}



8832 8832.5 8833 8833.5 8834
cyclenum

425.5−

425−

424.5−

424−

423.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

71−

70.5−

70−

69.5−

69−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

25.6

25.8

26

26.2

26.4

26.6

26.8

27

27.2

27.4

27.6

27.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

486−

485.5−

485−

484.5−

484−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

94.5−

94−

93.5−

93−

92.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

27

27.5

28

28.5

29

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7355}



8832 8832.5 8833 8833.5 8834
cyclenum

170.6

170.8

171

171.2

171.4

171.6

171.8

172

172.2

172.4

172.6

172.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

42.6

42.8

43

43.2

43.4

43.6

43.8

44

44.2

44.4

44.6

44.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

9−

8.5−

8−

7.5−

7−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

182

182.2

182.4

182.6

182.8

183

183.2

183.4

183.6

183.8

184

184.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

23.4−

23.2−

23−

22.8−

22.6−

22.4−

22.2−

22−

21.8−

21.6−

21.4−

21.2−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7.5−

7−

6.5−

6−

5.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7355}



8832 8832.5 8833 8833.5 8834
cyclenum

234.5−

234−

233.5−

233−

232.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

85−

84.5−

84−

83.5−

83−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

442.4−

442.2−

442−

441.8−

441.6−

441.4−

441.2−

441−

440.8−

440.6−

440.4−

440.2−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7355}

8832 8832.5 8833 8833.5 8834
cyclenum

7353

7353.5

7354

7354.5

7355

7355.5

7356

7356.5

7357

ru
n

run:cyclenum {run == 7355}
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